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4.93 511 5.16 4.87 3.01 2.98 3.98 021 0.19 2.43 0.14 0.12 1.9 0.11 0.09
) 08) (0% (05 07 (03) (02 00 (06 (00 (048 00 (003 (0% (00 (00
0.00 3.65 4.67 63.42 1.01 0.00 2742.86 1429 0.00 1925.00 16.67 0.00 211111 22.22 0.00
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3 0% 01 0% (9 07 (08 08 (02 02 OB 01 e ) 02 03
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12.12 9.62 9.44 11.87 8.46 8.23 1153 6.42 6.16 10.92 6.12 5.67 10.84 5.98 5.44
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6.43
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8.40
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5,16
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8.1
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68.24
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0.95
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0.00

oLS
401
(071)
1425,00
7.25
(0.73)
406.99
8.46
(L17)
11256
10.77
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33.74 301
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7.3
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851
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(063)
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1.46 0.00
8.99 7.36
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(0.63)
0.00
6.18
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6.98
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6.93
(L22)
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7.94
(127)
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841
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10.40
(L79)
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1061
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0.00

oLs
701

(L21)
67.10
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(259)
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8.78
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9.56
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12.89
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6.53
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2.80
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0.00
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(0.73)
0.00
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(143)
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5.73 5.56
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33.28 741
9.69 7.10
(183)  (1.29)
10,11 457
12.07 8.99
(194)  (137)
31.79 263
1401 1023
(236) (143
44.95 2.08
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5.43
(1.03)
0.00
6.34
(111)
0.00
6.79
(127)
0.00
8.76
(134)
0.00
9.61
(142)
0.00

oLS
5.42
(111)
69.16
8.24
(158)
67.14
9.46
(198)
65.67
1191
(2.36)
50.19
12.76
(241)
47.69
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ALS
3.23
(047)
0.62
5.13
(113)
4.06
5.84
(121)
2.28
8.14
(1.28)
265
8.96
(132)
3.70

(ARRMSE)

WLS
3.21
(038)
0.00
4.93
(111)
0.00
5.71
(1.19)
0.00
7.03
(1.23)
0.00
8.64
(127)
0.00

oLS
431
(0.98)
1206.06
7.46
(115)
404,05
8.90
(1.23)
120.30
11.04
(2.07)
105.97
12.24
(212)
86.59

= o
ALS
0.36
(0.09)
9.09
1.64
(0.38)
10.81
4.15
(0.86)
2.72
5.59
(1.02)
4.29
6.71
(121)
2.29

WLS
033
(0.08)
0.00
148
(037)
0.00
4.04
(067)
0.00
5.36
(1.01)
0.00
6.56
(1.18)
0.00

oLS
272
(0.41)
907.41
5.47
(059)
311.28
7.68
(1.14)
155.15
9.76
(159)
142.18
11.23
(163)
79.97

= O
ALS
0.39
(0.08)
44.44
1.46
(027)
9.77
3.10
(0.55)
2.99
419
(091)
3.97
6.58
(118)
5.45

WLS
0.27
(0.07)
0.00
1.33
(0.24)
0.00
3.01
(0.49)
0.00
4.03
(0.89)
0.00
6.24
(1.16)
0.00

oLS
2.26
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882.61
5.15
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7.29
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(0.26)
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6.23
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0.00
1.24
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0.00
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0.00
7.76
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1281
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5,29
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(1.26)
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(0.24)
0.00
221
(0.45)
0.00
4.86
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5.29
(L14)
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(L.24)
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oLs
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6.17
(0.64)
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(L27)
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1061
(L34)
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(L65)
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(023)
971
221
(0.49)
425
3.99
(0.71)
179
5,08
(116)
3,04
7.49
(1.25)
417

WLS
1.03
0.22)
0.00
202
(0.49)
0.00
392
(0.62)
0.00
4,938
(L14)
0.00
7.9
(1.23)
0.00

oLS
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(0.44)
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5,87
(0.56)
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8.02
(108)
11734
1038
(L13)
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(L47)
69.36
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(0.25)
207
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(0.47)
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(L02)
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721
(L15)
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0.00
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0.00
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(042)
0.00
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0.00
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0.00



2 ag=03
=\5, 30,50,100,200  WLS

LS ALS

VB

WLS

ARRMSE

«=50,100

VB

ARRMSE

a0- 03

4.10

200

(Js

410

ARRMSE

ARRMSE

ALS = 50
OLS
RDARRMSE
MB =6
0.1 0.3

ARRMSE

65

ARRMSE VB
ARRMSE
-=100
OLS
<l (<7.. :0.5)
al= 05



b MK MU 4 Mis -5 M.
w T W) oo A ” s A i » . ¢
1
'
b » | 2 s \ i
ELR | 0 . LU e J 20
— ) r AT |
| ———cii ! +vxs | —p——r - ——0r |
" "—‘_an 18 | —Ppe ALY " | —— AL LU PR~ — Y, " 4 ———— it ‘
H l 4 | |
LR { wis | r LWL | wis . wis
" - — " i o § w“ —o—¢ (
1 4 § [ 10 By,
p '\o \
:\-‘ : B
B B ’ : ' 0 *
3 o
e
Np— g
¢t t——r o A—_— ¢ —_— ¢ f——r e
Y —_—
' ¥ 2 180 Jeo " ) " 100 200 1 " s r1of " " 30 e 200 s " " 140 2 |
|
=510 s — - |
nais n=30 a=$0 n=100 rs200 |
.o 30, g T - : [ e A ahe i W o IECc— ”» — |
' H |
i » | i 28 2 s |
{ : \
{ i |
{ } |
20 20 20 20 J
=t ————
—_——0s ——— —_— ——— ‘
.4 —— e A LS " — s 1] R —— s ——— LS l
|
wis » wis wis wis | |
e o~ 1w —_— 10 J . 10 —]
|
' * 4 : ' / s /o,)v/. ‘
9 <
: < sl ! — l
e —— C — L 0 4 |
] . s . l 1 ‘ ) . il “ ) i ) . $ . ? o\ s ¢
t ! ?
L L |

ARRMSE

3

61 =05

6g=0.3




0.5

41

MB

(RDARRMSE)
«=15
OLS ALS
8.08 7.64
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7.88 2.00
11.37 911
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17.82 1.66
1271 9.86
(266)  (L87)
31.85 2.28
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15.48 12.16
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29.32 1.59
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WLS
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(L58)
0.00
9.03
(L59)
0.00
9,64
(L64)
0.00
11,66
(L74)
0.00
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(L71)
0.00

oLS
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56.80
1208
(259)
54,67
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6.44
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(L83)
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WLS
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0.00
3.45
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0.00
561
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0.00
6.24
(L34)
0.00
8.56
(L52)
0.00

oLS
5,09
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1784
711
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9.45
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92,07
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82.80
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58,96
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347
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(149)
373

WLS
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0.00
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6.06
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8.04
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0.00

oLS
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(0.79)
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9.45 8.59
(L86)  (L79)
13.04 2.75
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(279)  (L92)
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WLS
8.36
(L71)
0.00
10.36
(L73)
0.00
10.62
(L.72)
0.00
12.52
(1.96)
0.00
12.98
(1.88)
0.00

oLs
8.64

(L87)
3437
11.96
(2.44)
45.85
13.68
(2.65)
39.17
14.89
(2.61)
33.78
15.80
(2.73)
31.23

aa=0.7

=3
ALS
6.72
(1.35)
451
8.61
(153)
5,00
10.02
(L.97)
1.93
11.32
(2.01)
171
12.44
(2.24)
3.32

(ARRMSE)

WLS
6.43
(1.27)
0.00
8.20
(132)
0.00
9.83
(154)
0.00
11.13
(1.65)
0.00
12.04
(1.69)
0,00

oLs
759
(1.42)
10458
10.86
(L57)
110,06
12,45
(1.85)
76.60
13.67
(2.59)
59.51
15.03
(2.67)
60.41

-0

ALS
3.78
(0.62)
1.89
5.34
(0.96)
3.29
7.8
(1.01)
1.84
8.97
(1.49)
467
9.61
(2.03)
2.56

WLS
371
(0.46)
0.00
5.17
(0.78)
0.00
7.05
(0.99)
0.00
8.57
(142)
0.00
9.37
(L.68)
0.00

oLS
6.16
(0.97)
136.02
8.95
(1.24)
115,66
10.96
(L.69)
62.61
12.17
(2.44)
7238
13.57
(2.47)
53.68

ALS
273
(0.51)
4.60
429
(0.96)
337
6.89
(0.97)
223
722
(1.48)
227
9.24
(L58)
4.64

(=

WLS
261
(0.42)
0.00
415
(0.68)
0.00
6.74
(0.82)
0.00
7.06
(1.39)
0.00;
8.83
(L47)
0.00

oLs
487
(0.88)
90.98
7.96
(1.15)
124.23
10.25
(1.63)
55.07
12.06
(2.03)
7453
13.25
(2.19)
53.71

Tl =

ALS
268
(0.42)
5.10
341
(0.84)
732
6.80
(0.92)
287
741
(1.46)
289
8.86
(L34)
2.78

WLS
255
(0.39)
0.00
3.55
(0.67)
0.00
6.61
(0.81)
0.00
6.91
(1.25)
0.00
8.62
(L.27)
0.00
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(71.

0.7

(RDARRMSE)
VB - 15
OLS ALS
6.18 6.04
2 (148)  (L05)
5.281 2.90
8.12 7.08
3 ) (L
31.52 6.79
10.18 141
4 (24D) (146
43.18 4.22
12.38 9.31
5 4) (183)
36.19 242
13.64 9.88
6 (246  (L7)
40.76 1.96

a, =0.7

WLS
5,87
(L02)
0.00
6.63
(L13)
0.00
71
(L45)
0.00
9.09
(L41)
0.00
9,69
(146)
0.00

oLS
571

(132)
64.55
851

(169)
63.03
9.85

(212)
63.35
1215
(231)
48.90
1335
(2.40)
48,50

60=0.1

=30
ALS
351
(0.48)
115
541
(112)
3.64
6.15
(1.28)
199
841
(1.36)
3.06
9.29
(157)
3.34

(ARRMSE)

WLS
347
032)
0.00
5.2
(L08)
0.00
6.03
(1.26)
0.00
8.16
(1.33)
0.00
8,99
(L54)
0.00

oLS
505
(L08)
755.93
73
(L14)
31356
921
(L41)
11124
121
(219)
9701
12.36
(218)
78.87

=50
ALS
0,64
(0.13)
8.47
192
(0.28)
8.47
4.46
(0.81)
2.29
591
(1.18)
387
704
(138)
188

WLS
059
(0.12)
0.00
177
0.27)
0.00
4.3
(0.54)
0.00
5,69
(L15)
0.00
691
(1.29)
0.00

oLS
207
(0.66)
460.38
5.74
(084)
254,32
797
(127)
140,06
1007
(2.05)
13096
11.35
(2.08)
72.23

= GO

ALS
0.67
(0.12)
26.42
174
(0.29)
741
341
(062)
271
451
(L02)
344
691
(1.26)
486

WLS
053
(0.09)
0.00
162
022)
0.00
33
(0.42)
0.00
4.36
097)
0.00
6.59
(122)
0.00

oLS
251
(0.56)
41224
542
(069)
254.25
758
(L24)
145,31
9.84
(L62)
13541
1123
(L67)
77,69

= 200

ALS
0.5
(0.10)
1224
16
0.27)
8.50
321
(057)
388
441
097)
5,50
6.64
(123)
5,06

WLS
0.49
(0.09)
0.00
153
(026)
0.00
3,09
(0.56)
0.00
418
(094)
0.00
6.32
(121)
0.00



WLS

MB

<N =0.1

a. = 07
<y =0.1

=15, 30,50, 100,200 L

MB

ALS
WLS
ARRMSE
«=150,100 200

Q.

ARRMSE

14.13

14

4.13
ARRMSE MB
ARRMSE
ARRMSE
ALS « =50 ARRMSE
OLS « =100
RDARRMSE OLS
MB =6
05 0.7 ARRMSE
MSE 02
ARRMSE al = 0.7



MB=3 MB=4 MB=4 ME=6

[ R RIS PR » . 30/ s Z L [ R
I
2% .1 H 2% R s F EL
i i
v | . " "
_._—un) _—’—KHX
18 — 15 —_— 1 o
<
| . wis LE%S
)
R

1 \ s | s
¥ L—
e O o J
S e S
" » se 1w 200 15 0 50 /08 200 s » 0 w0 200 i 2 40 100
n=130 n=50 n=100 2200 |
0 - - IRy N 1 (G)) - T4 Y | TP TR W e
: !
» % 2 i s
T H
20 20 ] g 20 | | 2

_.....__ou _’._ou +o s

-
N

4.13 ARRMSE 3 a.=07 a0=01




0.7

414

VB

(RDARRMSE)

_ 155
oS ALS
6 13
(15)  (L39)
65 223
1077 905
(253  (L79)
2480 447
0193
(259)  (L84)
B0 285
1394 1128
(26)  (191)
2593 181
149l 1143
Q7)) (1%)

an

0.97

<

=0.7

WLS
7.16
(L31)
0.00
8.69
(L49)
0.00
9.11
(L57)
0.00
1107
(163)
0.00
1132
(1.65)
0.00

a0=0.3

« = 30

oS ALS
733 451
L2 (099)
6398 089
1045 652
225 (13)
6431 252
1166 753
23)  (139)
5886 259
1366 997
231 (79
200 364
1419 1098
(246)  (185)
B2 24

(ARRMSE)

WLS
447
(0.95)
0.00
6.36
(L.16)
0.00
7.34
(1.29)
0.00
9,62
(L39)
0.00
10.72
(L47)
0.00

oLS
6.12
(L18)
277.78
8.82
(L37)
21388
9.85
(L54)
83.43
12,70
(231)
11821
1352
(236)
68.79

=0

ALS
164
032)
1.23
287
(062)
150
5.45
(083)
149
6,01
(L35)
3.26
8.14
(L71)
162

WLS
162
(031)
0.00
281
(058)
0.00
5.37
(0.65)
0.00
5.82
(1.29)
0.00
801
(143)
0.00

oLs
4.5
(0.89)
206.04
6.68
097)
159.92
9.03
(L51)
100.22
11.08
(2.19)
10256
1234
(2.19)
60.89

7= 100
ALS
157
(031)
5,37
265
(060)
233
482
(082)
6.7
5,65
(1.26)
3.29
789
(L45)
287

WLS
1.49
(0.25)
0.00
257
(051)
0.00
451
(0.66)
0.00
5.47
(1.25)
0.00
767
(36)
0.00

oLS
341
(072)
135,17
6.39
(096)
16736
8.54
(L41)
9191
1054
(L66)
10038
12,08
(L77)
62.37

= 200
ALS
151
(0.29)
4,14
252
(0.40)
544
455
(0.69)
2.25
5.43
(L.10)
323
7
(L.19)
376

WLS
145
(0.24)
0.00
2.39
(0.39)
0.00
445
(0.46)
0.00
5.26
(L08)
0.00
744
(L15)
0.00
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CT.

e

0.7

415

MB

(RDARRMSE)
«=15
OLS ALS
8.51 7.94
(1.81) (1.78)
1081 3.39
1181 10.31
(2.67) (1.92)
17.28 2.38
1331 10.48
(2.67) (1.87)
30.62 2.85
14.97 12.36
(2.79) (1.94)
24.96 3.17
15.87 12.96
(2.85) (2.14)

24.18

141

d

=07

WLS
768
(L64)
0.00
10,07
(L64)
0.00
1019
(L67)
0.00
1198
(183)
0.00
1278
(182)
0.00

A=

oLS
8.16

(L75)
42,66
11.15
(238)
55,51
1244
(262)
33.18
1421
(257)
33.18
1515
(261)
3140

0.5

= 30
ALS
5,89
(L.27)
297
7.38
(L47)
293
8.42
(189)
1.20
10.98
(L98)
201
1182
(2.09)
252

(ARRMSE)

WLS
5.72
(1.26)
0.00
747
(1.20)
0.00
8.32
(L52)

0.00 :

1067
(L58)
0.00
11,53
(L63)
0.00

0LS
6.88
(136)
17302
9.80
(L52)
165.58
1157
(L74)
90.61
13.17
(247)
93.96
1423
(2.64)
57.76

=50
ALS
258
(0.54)
2.38
378
(0.86)
2.44
621
(094)
231
6.79
(146)
4.30
9.47
(L94)
166

WLS
252
(0.49)
0.00
369
0.72)
0.00
6.07
(0.85)
0.00
651
(139)
0.00
9.02
(L58)
0.00

oLS
551
(093)
152,75
747
(L21)
11161
1003
(L64)
73.48
11.78
(2.26)
89.09
1297
(237)
54,04

=1To
ALS

223
(0.42)
229
348
(0.69)
450
5.26
(0.89)
3,758
651
(L41)
4.49
871
(L53)
3.44

WLS
218
(0.41)
0.00
333
(0.69)
0.00
5,07
(0.78)
0.00
6.23
(139)
0.00
8.4
(142)
0.00

oLs
4.25
(0.78)
97,67
7.09
(L11)
12296
9.74
(L56)
93.25
11.69
(L93)
92.90
12,66
(2.00)
54.77

= 200
ALS
221
(0.39)
279
334
(0.79)
5,09
5.2
(0.79)
357
6.34
(L42)
462
8.46
(1.29)
342

WLS
215
(0.33)
0.00
3.18
(0.66)
0.00
5,04
(0.74)
0.00
6.06
(L18)
0.00
8.18
(L17)
0.00
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CT.

0.7

416

MB

(RDARRMSE)

fi=15
oS AL
1014 918
(L99)  (1.89)
1497 408
1302 1087
(268)  (214)
2830 29
1513 1149
(287)  (1.9)
357 29
1604 1298
(29%)  (214)
2000 21
1719 1362
(312 (234

29.44

2.56

6L =07

WLS
8.82
(182)
0.00
1056
(L79)
0.00
11.16
(139)
0.00
1263
(2.09)
0.00
1328
(L94)
0.00

G6=0.7
=30
OLS ALS
9.25 157
(1.76) (1.39)
21.06 3.98
12.23 9.07
(249) (1.56)
41.22 473
14.26 10.98
(2.74) (2.05)
40.08 7.86
15.23 11.92
(2.66) (2.08)
30.28 197
16.31 12.98
(2.86) (2.32)
30.79 4,09

(ARRMSE)

WLS
7.28
(131)
0.00
8.66'
(L41)
0.00
10.18
(L59)
0.00
11,69
(L73)
€eo V
1247
(L79)
0.00

oLS
8.08
(L45)
91.92
1130
(161)
10035
1313
(L94)
12.42
1371
(264)
51.66
1525
(268)
54,20

ALS
4.4
(0.68)
4.99
585
(0.97)
37
.16
(L.16)
7.16
9.19
(L54)
166
10.18
(2.10)
293

WLS
421
(046)
0.00
564
(0.79)
0.00
76151
(L13)
0.00
9.04
(L49)
0,00
9.89
(L71)
0.00

oLs
6.72
(L01)
12550
10.06
(1.29)
12556
11.21
(L75)
60.83
1323
(254)
80.00
1388
(251)
5371

= GO

ALS
323
(052)
8.39
473
(L02)
6.05
7.09
(L08)
L7
755
(L54)
27
9.65
(159)
6.87

WLS
298
(0,46)
0.00
4.46
(0.74)
0.00
6.97
(093)
0.00
7.3
(L46)
0.00
9.03
(153)
0.00

oLS
551
(098)
92.66
9.08
(L17)
135,84
10.48
(L68)
53.44
1251
(206)
7521
1367
(2.26)
54.29

=200
ALS
2.99
(0.43)
455
4,04
(087)
4.94
7.03
(094)
293
7.34
(136)
280
9.45
(L47)
327

WLS
286
(0.42)
0.00
385
0.77)
0.00
6.83
(089)
0.00
7.14
(1.26)
0.00
8.86
(131)
0.00
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10

417

(RDARRMSF,)

MB

oLS
7.26

(L41)
6.76

9,68

(2.27)
2787
11.05
(2.35)
3778
1326
(251)
32.20
1446
(2.44)
4163

«=15
ALS
6.96
(L19)
2.35
7.98
(L28)
542
8.32
(132)
374
10.21
(L47)
1.79
10.38
(192)
1.67

=1.0

WLS
6.80
(L17)
0.00
757
(L.25)
0.00
8.02
(1.28)
0.00
1003
(L44)
0.00
1021
(L74)
0.00

a =0.1
«=30
OLS ALS
6.89 4.08
(L21)  (0.86)
70.12 0.74
9.13 6.08
(L51)  (L24)
53.45 218
10.95 6.79
(225 (L21)
63.19 119
13.03 9.01
(236)  (L38)
48.57 2.14
13.95 10.14
214)  (140)
42.64 3.68

(ARRMSE)

WLS
4.05
(063)
0.00
5.95
(L17)
0.00
671
(L18)
0.00
8.7
(132)
0.00
9.78
(134)
0.00

OLS
5,56
(L18)
355,74
785
(L.21)
232,63
9.99
(L41)
101.82
12,17
(L53)
12621
13.08
(L83)
72.33

=50
ALS
1.39
(0.29)
1393
2.46
(0.36)
4,24
501
(0.99)
121
557
(1.26)
353
769
(L39)
132

WLS
122
022)
0.00
236
(054)
0.00
495
(0.64)
0.00
5.38
(L17)
0.00
750
(1.29)
0.00

oLS
411
(0.66)
266.96
6.24
(0.73)
179.82
8.58
(L18)
11397
1067
(149)
111.29
12,06
(166)
65.66

s ap

ALS
121
(0.28)
8.04
228
(063)
204
4,07
(0.76)
150
5,16
(L14)
218
757
(1.36)
3.98

WLS
112
(0.18)
0.00
223
(047)
0.00
401
(062)
0.00
5,05
(L12)
0.00
7.28
(134)
0.00

oLS
301
(0.39)
183,96
5,94
(0.54)
17751
8.09
(L07)
114,02
1045
(L11)
11069
11.78
(L46)
68.05

= 200

ALS
112
(0.26)
566
22
(0.44)
374
3.86
(0.48)
202
5,07
(L07)
22
7.29
(L12)
3.99

WLS
1.06
(0.20)
0.00
214
(036)
0.00
378
(0.47)
0.00
4.9
(L04)
0.00
701
(L12)
0.00
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4.8
(RDARRMSE)
VB = 15
OLS ALS
8.06 1.62
2 (168)  (159)
8.04 214
117 9.61
3 @5) (L9
1845 2.33
12.52 9.65
4 (259) (185
3291 244
14.16 11,62
5 (265 (L99)
23.67 1.48
15.12 11.96
6 (275 (203)

28.57

170

g =1.0

WLS
746
(L52)
0.00
9.43
(L52)
0.00
9.4
(L61)
0.00
11.45
(L64)
0.00
11.76
(L67)
0.00

oLS
7.6

(L66)
58,04
1085
(2.27)
50.32
1203
(2.56)
58,71
1380
(2.49)
37.12
1463
(2.56)
32.20

7 =0.3

«=30
ALS

4.94
(1.29)
061
6.93
(L37)
176
768
(L81)
132
1024
(L91)
220
11.25
(L93)
181

(ARRMSE)

WLS
491
(L27)
0.00
681
(1.19)
0.00
758
(L47)
0.00
10.02
(L42)
0.00
11.05
(L53)
0.00

oLs
653
(1.26)
234,87
8.9
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